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Table 1: Estimation bias and coverage probability of time-specific 1-month lagged parameter estimates (for

the 3-month, formulas in Table 1 were used for the conversions). EB: estimation bias (|relative biases| larger

than .05 highlighted); CP: coverage probability.
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Table 2: Estimation bias and coverage probability of specific and overall direct effects (sl = .01). EB:

estimation bias (|relative biases| larger than .05 highlighted); CP: coverage probability. Sdir1 is the 1-month

lagged time-specific direct effect estimate. Odirv is the overall direct effect estimate over v units of time.
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Table 3: Estimation bias and coverage probability of overall indirect effects (sl = .034). EB: estimation bias

(|relative biases| larger than .05 highlighted); CP: coverage probability. Sind2 is the time-specific 2-month

lagged indirect effect estimate. Oindv is the overall indirect effect estimate over v units of time.

Parameter
n = 100 n = 200 n = 400 n = 1000

EB CP EB CP EB CP EB CP
a = .5, b = .4, c′ = 0 (1-month interval design)

Oind1 = .162 .003 .940 -.001 .950 .001 .946 .001 .948
Oind2 = .394 .001 .938 -.001 .954 .001 .958 .000 .952
Oind6 = .482 -.005 .948 -.002 .946 .002 .946 .000 .948
Oind12 = .108 -.007 .954 .001 .952 .007 .938 -.001 .946

a = .5, b = .4, c′ = 0 (3-month interval design)
Oind1 = .162 .016 .948 .003 .956 .004 .938 .001 .948
Oind2 = .394 .012 .954 .002 .954 .004 .948 .000 .948
Oind6 = .482 .004 .940 -.001 .952 .001 .948 .000 .946
Oind12 = .108 .008 .948 .001 .966 .001 .950 -.001 .944

a = .5, b = .4, c′ = 0 (6-month interval design)
Oind1 = .162 .242 .954 .191 .981 .140 .975 .060 .968
Oind2 = .394 .177 .957 .151 .978 .113 .973 .045 .968
Oind6 = .482 .055 .948 .067 .968 .056 .971 .015 .964
Oind12 = .108 .032 .965 .044 .962 .039 .959 .008 .960

a = .5, b = .4, c′ = −.1 (1-month interval design)
Oind1 = .162 .001 .954 .001 .944 .000 .938 .001 .930
Oind2 = .394 .000 .956 .001 .946 -.001 .948 .001 .948
Oind6 = .482 .001 .928 -.001 .944 -.002 .948 .000 .970
Oind12 = .108 .010 .920 .002 .946 -.003 .944 -.001 .960

a = .5, b = .4, c′ = −.1 (3-month interval design)
Oind1 = .162 .021 .942 .009 .962 .000 .944 .002 .950
Oind2 = .394 .017 .944 .007 .964 .000 .948 .002 .960
Oind6 = .482 .007 .940 .005 .954 -.001 .964 .001 .956
Oind12 = .108 .006 .946 .009 .932 .001 .966 .001 .954

a = .5, b = .4, c′ = −.1 (6-month interval design)
Oind1 = .162 .334 .964 .255 .985 .102 .991 .078 .971
Oind2 = .394 .266 .961 .204 .982 .078 .991 .063 .969
Oind6 = .482 .124 .955 .098 .980 .031 .984 .028 .951
Oind12 = .108 .084 .966 .058 .962 .019 .971 .016 .955
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Table 4: Estimation bias and coverage probability of overall direct effects (sl = .034). EB: estimation

bias (|relative biases| larger than .05 highlighted); CP: coverage probability. Sdir1 is the 1-month lagged

time-specific direct effect estimate. Odirv is the overall direct effect estimate over v units of time.
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Table 5: Estimation bias and coverage probability of overall indirect effects (sl = .1). EB: estimation bias

(|relative biases| larger than .05 highlighted); CP: coverage probability. Sind2 is the time-specific 2-month

lagged indirect effect estimate. Oindv is the overall indirect effect estimate over v units of time.

Parameter
n = 100 n = 200 n = 400 n = 1000

EB CP EB CP EB CP EB CP
a = .5, b = .4, c′ = 0 (1-month interval design)

Oind1 = .151 .003 .944 -.001 .950 .001 .948 .001 .948
Oind2 = .381 .001 .934 -.001 .956 .001 .954 .000 .948
Oind6 = .477 -.005 .950 -.002 .944 .002 .946 -.001 .950
Oind12 = .108 -.007 .952 .001 .956 .007 .940 -.001 .950

a = .5, b = .4, c′ = 0 (3-month interval design)
Oind1 = .151 .016 .948 .003 .956 .004 .940 .001 .952
Oind2 = .381 .012 .956 .002 .956 .003 .942 .000 .956
Oind6 = .477 .004 .938 -.001 .952 .001 .948 .000 .948
Oind12 = .108 .008 .944 .001 .968 .000 .948 .000 .948

a = .5, b = .4, c′ = 0 (6-month interval design)
Oind1 = .151 .238 .954 .191 .981 .140 .975 .060 .968
Oind2 = .381 .174 .957 .150 .978 .113 .973 .046 .968
Oind6 = .477 .052 .948 .066 .968 .055 .971 .015 .964
Oind12 = .108 .030 .968 .043 .962 .039 .959 .008 .956

a = .5, b = .4, c′ = −.1 (1-month interval design)
Oind1 = .151 .001 .954 .001 .944 .000 .940 .001 .930
Oind2 = .381 .000 .958 .000 .944 -.001 .950 .001 .942
Oind6 = .477 .001 .930 -.001 .944 -.002 .950 .000 .970
Oind12 = .108 .010 .926 .002 .948 -.003 .948 -.001 .958

a = .5, b = .4, c′ = −.1 (3-month interval design)
Oind1 = .151 .021 .944 .009 .962 .000 .944 .002 .950
Oind2 = .381 .017 .942 .007 .964 .000 .946 .002 .956
Oind6 = .477 .007 .942 .004 .954 -.001 .964 .001 .958
Oind12 = .108 .006 .944 .009 .928 .000 .966 .001 .956

a = .5, b = .4, c′ = −.1 (6-month interval design)
Oind1 = .151 .331 .964 .254 .985 .102 .991 .079 .971
Oind2 = .381 .263 .964 .203 .982 .078 .991 .063 .965
Oind6 = .477 .121 .955 .096 .980 .031 .984 .028 .951
Oind12 = .108 .082 .966 .057 .960 .019 .968 .016 .955
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Table 6: Estimation bias and coverage probability of specific and overall direct effects (sl = .1). EB:

estimation bias (|relative biases| larger than .05 highlighted); CP: coverage probability. Sdir1 is the 1-month

lagged time-specific direct effect estimate. Odirv is the overall direct effect estimate over v units of time.
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